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Alex claims that when % is

divided by a fraction, the result
will always be greater than %

A. Drag a digit into each box to
create an expression that
supports Alex's claim.

B. Drag a digit into each box to
create an expression that
contradicts Alex's claim.
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A treadmill counts each % mile

run as one lap. The display on
the treadmill shows the total
number of laps run and
highlights the portion of the
current lap that has been
completed.

A. What is the total distance run
for the display shown? Drag
one number into each box.

B. Create a display that shows a
total of iz miles run.
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You are buying two kinds of
coffee.

e 1 pound of premium coffee
costs $3.00.

e 1 pound of regular coffee
costs $2.00.

You have $15.00 to spend and
want to buy 1 pound of premium
coffee.

Use the Connect Line tool to

draw the solution set that shows

all possible numbers of pounds

gf regular coffee that you can
uy.
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George's weekly pay rate is
$455 per week.
He receives a 20% raise.

How can George calculate his
new weekly wage rate?

Drag each calculation to the
category that correctly describes
whether the calculation on its
own can find George’s new
weekly pay rate.

Finds new wage rate

Does not find new wage rate

Divide $455  Multiply $455
by 0.20 by 0.20

Divide $455  Multiply $455
by 1.20 by 1.20

Solve for x:  Solve for x:
x__120 455 _ 20

4557100 x 100
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Shelly incorrectly solves the
equation %(C+ 6)=7. Her

work is shown.

A.

Select all the steps that show
an error based on the
equation in the previous
step.

. Use the Add Point tool to

show the correct solution of
the given equation.

A lc+re)=7
Step 1: Sere=7
Step 2: % c=7+6
Step 3: %
Step 4:
Step 5:

B. Correct solution
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Aimee has $10.00 to spend on school supplies. This table shows how much each item at the
school shop costs. No tax is charged.

Item Price
Folder 1.29
Pen 0.70
Notebook 2.35
Eraser 0.89

Select all of the following combinations Aimee could buy with her $10.00.

[ 5 folders and 5 pens

[7 6 pens and 6 erasers

[ 1 pen and 4 notebooks

[/ 3 folders and 7 erasers

[/ 4 folders and 2 notebooks

[ 3 notebooks and 4 erasers
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Consider the equation.

Identify two expressions that are
equivalent to w and drag each of
them to an answer box.
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av-28
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A representative sample of 50 Based on the representative sample True False
students from a high school is
surveyed. . Twice as many students are taking
Each student is asked what Health Science than are taking Physics.
science class he or she is taking.
This table shows the responses. 20% of students at the high school are
taking Chemistry.
1 Number of
Science Class | ‘g dents
- In a group of 25 students, it is expected
Physics 6 that 4 of the students are taking Earth
Chemistry 10 Sclence.
Biology 18
> In a group of 150 students, it is expected
Earth Science 4 that 18 of the students are taking Physics.
Health Science 12

Click in the True or False column
to identify whether each
statement is valid based on the
survey results.




